EARAROBREBRT —5 XN—ZXBISH—F

2021098198 (B) smE411H

I ST ILIRRI DSR2

‘ (R 65 ‘ (Rl - |5 (@) 13000 RE

[A&s] 1 7 :900,000 § 2 3&:315,000

/ 33&:180,000 . 43#&:135000FH  53&:90,000 M

B %S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES
i 5 aRER 127, -8-5- 2| - RIMTLE) (B5D)
1 2| /=TWT7AF7) 2R 1(2_7)1 7853 |92 ) (439) ) St
RiFIVY—0 §:IIVE—FR BREM THI7—L
V5 > el : S - BEEE (B4
N : N LY, 2 | £8 123 1-1-1-1 | 40.2 6 (4_135; ;%uiﬁiﬁ (®50)
R:AN/UwF— 85y METFv— [lsakie)
Sy ) — o2 | BAEK 1:27.3 2-2-2-2 | 40.0| — | 2 | 412 |EEEE (FH)
38|10 Av¥—/ 55.0 C15) o | @ mwmc
RiboPT—UR B:FRFRA hE— HE 4
w2 | BEREL 1:28.0 8-9-8-6 [39.5| — | 9 | 392 |BIEHS (HH)
4(7|7|ErFA 55.0 a3 ) |EBHE
RiFVINAO— BXTUFYRT— RESS
NS SRRRIE—ER :28. -3-3- 4| - THER (B
sl9] g | 7YXy 2 | BE 1:28.8 3335 | 41.4 1 (4:&34; Jems ®
R:O—RHFO7 B:TU—XRoX—I “EBIT—L
)1 |13 29, ~4-4- 4| - =HEE— (&)
68| 9| /LRI~ w28 0| e Py EeE
RiVZAI—ZZRI— 8:I74—UVIT— 737 5
—R5T> f2 | FEER 1:29.3 5-5-67 |40.9| - 5 | 410 |HMEEX SH)
ZH 3 UD—R3STV 54.0 (1172 -2) %Wﬁ?ﬁ?
KRRy I—9ILN¥NI #:b—EY7E-L J=RA=FT
gl111|HAYINU—LE— 2 | DA 1;(37(;.7 6768 |42.3| — | 7 (4_171) “Eg;gg— (C5)
RINMVTFSY BVTATAALIT ]
SAH {ERHZR :30. -6-9- - BEITn (@0
ol ¢ | KOA RSAH— 2 g i AR 8 ;‘fj) CAtl
RiFA—TANA B:RAFRVIUF MBS
33 o2 | HERTE 1:35.2 [10-10-10-10{ 45.2 | — | 10 | 405 |BUEEE (=40
10[5]5|E3¥E3Y %53.0 (54%) o |ZX®
R A Lh—L B:F—TA v RUTL EKI7—L
® 11— —EBIEfL
13—7— |4,10,8,9,3,1,6,7,2,5
2J—F— |4,10,8,9,3,6,1,2,7,5
33— — |4,10,8,9,2,(1,3).7,6.5
43—7F— |4,10,2,9.8,7,3,1,6,5
® ILRE
& s 2 620 | | DA R 2-4 1,640 | | # &= 2-4 4,730 | | 3EE 2-4-10 8,720/
& B 2 290M 2-10 540 | | B & 2-4 6,040 | | 3=& 2-4-10 53,280M
4 490M 4-10 820 | | /5 & 2-4 7,700
10 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



